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1. A TREE oo fhaM ISR GoYy FIvl) Siedl AR ?

(1) @& o (2) @i wie=idn seqEfam
(3 TEWI™ 4) . frem
Who of the following has correlated poverty with calories in India ?
(1) P.K Bardhan. (2) Dr. Monteksingh Ahaluwalia
(3) Dandekar and Rath (4) B.S. Minhas
2. rg g faE

THA WEHA FHWI FHIvRa = TAa9 g ?

(@) vy faeft e

() Fee s

() FAREHR Fd

(d) N TS F9

() i =My &t

L Gigesd

(1) abeit o (2) SCAdH FoRS T
@ @ mIE @ FEB()A(E)
Choose correct option :

What does foreign capital include ?

(a) Direct foreign investment

(b) Foreign collaboration investment

(c) Inter-Government loans

(d) Loans from international institutions

{e) External commercial borrowings

Angwer options :
(1) Al of the above (2) None of the above
3 (a), (b) and () | (4) Only (d) and ()

HoAl HIWHEE AT /SPACE FOR ROUGH WORK
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3. Wcie! S aEiE Sehdl Y qe WU faar el s 2
(a) U snfor G TIHRS
(b) i TG
(c) CrTEER sfE HaenH
() R wewH
vt 3oy

(1) (@) 3 () (2) (@) S (b) 3 = ()

4)

(b) 3T (d)

Which of the following are considered as the latest principles of co-operation ?

(@) Voluntary and open membership
() Maximum profit

() Democratic management

(d) International cé-operation

Answer options :

1) @and(© (2 @and(® () () and(©

(4)

(b) and (d)

HoAT HIMYE ST /SPACE FOR ROUGH WORK
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4. Sreq Jeg 4y Tt fae

e SR e HArRda i
uftwde fommmor wraTe wfafdte
() - TemR (1996) ) TFES
) foi= (1998) (i) RN TRA
(c) Tasfzar (1999) (iif) STEoT Fee
(d) FTFTT (2003) (iv) FoEmY
() ITHIT (2004) v) THE
it I

@ (b () (@ {o
1 & @ @ @
@ @ @ @ ™
@) @ O ) @ (V)
4 & O @) @) (i)
Match the following and choose the correct code.
Minister level conferences of WTO :

Conference Venue Indian Representative
(a) Singapore (1996) (i} Ramkrishna Hegde
(b} Geneva (1998) {ii) Murasoli Maran
{c) Ciatal (1999) (iii} Arun Jetley
(d) Cancun (2003) (iv) Kamal Nath
{¢) Hongkong (2004) (v} Ramaiyyah

Answer options :

@ (b (o (@ (9
1 @ @ @ & @
2 @ @ @) @ W
@ @ @ v @ (@
4 v O @ @) G

FEAT RIS W /SPACE FOR ROUGH WORK

P.T.O.



Admin
Line


HO8 6 . A

5. YRAMIG Hier I TErE I UM Gl fAH T Hoaren M SRIven sifits o
TR ST 7

(1) 1991 = Hreifire o (2) 1948 9 irEifiEw YR
(3) 1956 9 sfeifm ¥ror (4) 1977 A JArafrE ¥rw

Which Industrial Policy in India promoted small-scale industry as ancilliary to facilitate
major industry ? .

(1) Industrial Policy of 1991 {2) Industrial Policy of 1948

(3) Industrial Policy of 1956 (4) Industrial Policy of 1977

6. wa?mmwwmmmmﬁmﬁmm
/ ?

(2) vwared sfde fammma aguEa Sy freEs Tt TeEqy yfirs SEr SR

(b) WRHY FTFD WWieae JUTeA T §NIRE (stock market) TSR] IUEE Hel T
. |

Wﬁﬂ'aﬁ:
(1) " @) @) R b @) A @) TR

In connection with emerging trends in era of globalization, which of the following
statement/s is/are correct ?

(a) MNC’s have now a definite and unique role in the sustained economic development
of India.

(b) Indian companies shares are being traded in European stock market.

Answer pptions :

(1) Only (a) (2) Only (b) (3) Both | (4) Neither

HoAT HAE™T ST /SPACE FOR ROUGH WORK



Admin
Line

Admin
Line


A 7 - HOS8

7. Tt faum faere =,
(a) ST deF Yahew @ Wed S ITHWEE Hed 0.
(b) 1960 A%T AT T FRU=T AT Fieil,
(c) ST faary Wen STt T 1 STie Hed ad.
et v/t faem/ seT s/ ?
(1) W (a) @ ®FE ® @7 @) & W
Consider the following statements :
(a) The world bank gives project oriented aid and program oriented aid.

(b) The International Development Agency was established in 1960.

(c) The International Development Agency gives interest free aid to the world’s poorest
countries.

Which of the statement/s given above is/are correct ?
(1) Only {a) (2)  (b) and (c) 3) (@) and (b) {4) Allabove

8. et faur faenm =
{a) 1966 TE) FaWEH FEHN Goreq YRTET HeHNTd YR ¢ A4 e SR,
(b) 1966 WL SMERUEH HFHW WoreAl YIS Wieaalat HAGEI o4 § o ol & shRel

.
(c) 1995 W ALY WEHIT I oA FHadod € A9 WS ad U alhra.
SeAiH FHR/ o /A B{ET S/9 ?
1 @9 @ @)
G ®FE (4) ¥ =

Consider the following statements :

(a) The International Co-operative Alliance adopted new principle co-operation amongst
co-operation mn 1966.

(b) The International Co-operative Alliance adopted new principle - Limited interest on
capital in 1966,

{c) The International Co-operative Alliance adopted new principle duties for the
community in 1995.

Which of the above statement/s is/are correct ?
(1)__(a) and (c) (2) {a)and (b)
(3) (b)and (c) (4)  All of the above

oA THIAAE AR /SPACE FOR ROUGH WORK
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9, WA fasE TEUF AYAE Feiais] o] fdeenren 99 g e ?

(1) e (2) =ER Ty <l S

(3) TSRS ST () wit I

Which of the following indicator is not used in the calculation of Human Development
Index ?

(1} Literacy rate {2) GDP per ¢apita

{3) IMR {4}  Agricultural Productivity

10. @i fay faed .
(a) TS T, OHEA A=A JTAFIGE AT 45 GorRon afed= fgat Fef,
(b) TR ATE sFEaTel THRS TR, 2000 74 WIS Fell.
ST shiow/d faum/ ae /4 ?
(1) % (a) (2} wH(b) (3} @9 (@) AR T
Consider the following statements :

{a) The Government appointed the committee on banking sector reforms under the
Chairmanship of M. Narasimham.

{b) The committee submitted it’s report to the Government in April, 2000.
Which of the statement/s is/are correct ?
(1) Only {a) (2) Only (b) (3) (a) and (b) {4) None of these

11. R0 AW HISH TS HIOr ehr=al g FAiHdiT weargd 34 ?

(1) T Efm (2) nfeardT (Tribal) Tefrator

@) TR (4) T @ wEd e ‘
What does Indira Awaas Yojana basically pfomotes ?

{1} Urban Housing (2) Tribal Housing

{3} Rural Housing {4) Rural and Urban Housing

e TETETS P /SPACE FOR ROUGH WORK
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12, GEHN TeEds faeome EreieeEl S T et S 2
(1) T T3Y, IuEds M |
(2) RN, Y YW S afHerg
(3) I FIv, ferrae wawm anfer amam
(4) FRES, e WU R SEOEA W2W

Which of the following states are leading in co-operative marketing ?
(1) Madhya Pradesh, Uttarakhand and Assam
{2)__Mabarashtra, Andhra Pradesh and Tamil Nadn

(3} Jammu Kashmir, Himachal Pradesh and Assam

(4) Jharkhand, Madhya Pradesh and Arunachal Pradesh

13. i =it faemmet s (e T ) s @ Fam e ?
(1) 1948 (2) 1951 (3) 1969 #) 1973

For the Industrial development of India, when the Industry (Development and Regulation)
Act was incepted ?

(1) 1948 ) 1951 (3) 1969 4) 1973

14, e faum fasmm =

(a) 2009 9= B FFHRA L.P.G. faao Geiaict s e gt e, 3., faawo aemn
gE Fef,

(b) 2010 72 THRT T faem vRuren argar el

(c) T T 2012 AL T3 faaem Fo gHtam famaet=n dshan Traa .
wieTienl G/ foam/t gt SIR/a?

(1) = () () @73 ®) (3) T (a) (4) =Ry

Consider the following statements :

(a) The Rajiv Gandhi Gramin L.P.G. Vitaran Yojana for small - size L.P.G. distribution
agerxies has been launched in 2009,

(b) The Government approved National Telecom Policy (NTP) in 2010.

(c) The Government in September 2012 approved the scheme for Finance Restructuring
of state distribution companies.

Which of the statements given is/are incorrect ?

{1) _Only (b} (2) (@) and (b) (3) Only (a) {4) None of these

TN TR WA / SPACE FOR ROUGH WORK
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15.

10 A

TERITE WESEN TAE| HEHSs (MSSIDC) Gieliade! HIvl 891 H1d e ?

(a) R GEEHE SHFET faaREaa.

(b) 3 i S T F.

(¢) VeI STENfsR H.

(d) GFErT e faageat =00

it v

1 @AM @ ) @ i@ @ Hawd

Maharashtra Small Scale Industries Development Corporation (MSSIDC) functions in
which of the following areas ?

(a) Long term finance for purchasing of land.

(b) To assist S5I for import and export.

() To arrange exhibitions.

(d) To finance for the purchasing of machinery and equipment.

Answer options :

(1) @and® () @and(© () Band(d)  (4) Allabove
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16. TRUITHRE e e & ~

(@) 397 TT=E. |

(b) 9= TEA,

(¢) IERHA AN HId B,

(d) s JE™ 35 .

I Ay e

1 @30) @ O @) I (4) 0w

Effective transport system is :

(a) Helpful in saving fuel.

(b) Helpful in saving time. -

{c) Helpful in enhancing productivity.

(d) Helpful in enhancing economic growth.

Select correct options :

(1) (&) and (b) (2) (D) and () (3) (¢)and (d) (4) All above

17. TR AT HIMK TR SR fuE Stet TR 2
(a) T AT FaNl ST TS JIHW e,
(b) YREE T WS Tl T SR,
qidy Iy ;

(1) ¥ () (2) (b @ =A | (4) HIRE TR

With reference to road transport, which of the following statements is correct ?
(a) Road transport adds to air and noise pollution.
(b) Road transport has limited scope in India.

Answer options :

{1} Only (a) (2) Only (b) (3) Both (4) Neither

THoAT HIMAH AW /SPACE FOR ROUGH WORK
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18. SieW Y@ed Ay vad fEel

HUTS @ET
(a) T, SEHURT F W
(b) TeEmet fagi
() hosdT
(d) =& aES
() W TET
it S

(@ () () (d) (e}
1 @ @ ) (v (@)
(2) Gv) @) ) () - (v)
G & O 4 ) @)
@ G @ G (Gv) v

Match the following and find correct code.

(d)
(e)

Nature of work
Soil, Water conservation and Road

Jawahar well
Horticulture

Tree Plantation
Silk Production

Answer options :

1
@
©)
4

@ ® & @ (o
W @ @) ) (@)
@ @ O @ v
v O @ @ )
O @ @ @ W

@
i)

(iv)

W ared

T FEF o Tefaer AEH

FiY wEIF 9 Ao F ST
HeETa® drEag Afuawl 7 danree
fyrenTd, TS S
wEHaTes, Wi Im
UHH®, deE § TEHITRN

Communication channel
Gram Sevak and BDO

Agricultural Assistant and Taluka
Agriculture Officer

Asgsistant Plantation officer and
Plantation Officer, Sccial forestry

Joint Director of Silk Production
Gram Sevak, Talathi and Tahsildar

FoT THATTE WEN /SPACE FOR ROUGH WORK
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19. e faumia faer = -

AT TSI GIST - 1993 =7 GO i -

fam (1) : i AU g OIS T wine Pt Tasmiy 100 feag gy

AT TPTR ITeY T

o (13) fearta TmEIfas, amifas a e wemrd i w e vfasmm T

pconIBEe e e

3T W :

(1)
(2)
3)
(4

faam (i) TR, faum (1) <=
faam (1) s, faum () 5%
At faum e

=t Taum <%

Consider the following statements :

In the context of employment assurance scheme - 1993 :

Statement (I) : For eradicating seasonal unemployment, unskilled physical labour

employment is to be made available for 100 days in rural area.

Statement (II) : Creating future employability by creating permanent collective social and

econonuc assels,

State :

(1)
)
&)

)

Statement (I) is correct, {II) incorrect
Statement {II) is correct, (I) incorrect
Both statements are correct

Both statements are incorrect

HoAT THIHE™T AT /SPACE FOR ROUGH WORK
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20. G faum fa<=mE s

(a) TR gE T el Qewon fiar 3 fedar, 2005 st G gt
(b) FhuErTelaid TRUdr TRIYd e THIS faaraER W U Sl
(c) v Infi Iy grENE G guren SEEAET SreEsEvi € @ AREEE e

leRF TR/ faum/A w9 e/ ?

1) @3 2 ®3E G @) @) N )
Consider the following statements :

{a) Jawaharlal Nehru National Urban Renewal Mission has been launched on
: 31 December, 2005.

(b) Focus attention on integrated development of infrastructural services in the cities
covered under the mission.

{(c) Mission mode approach was adopted for in‘l\plementation of Urban and Rural
infrastructure improvement programme.

Which of the statement/s given above is/are correct ?

(1) (@) and {q) 2} (b)and {9 () (a) and (b) 4} Only (b)

[}
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21. @ qa e

T TR Sy A [ S0l YR §HEY 8 T ?

() OegER AR awE Qe

(b) =EEHS el

(0 TR AN

() e AR Ee

(e) THMEA

(h TR $F T

(g) -9 Ha

T I

1) @%b (2) ©F(g)

@) (DT () (4) aiedE! HiEd

Choose correct option :

Which of the following ultra - modern communication technology does not include ?

(a) Cellular Mobile Telephone Service

(b) Voicemail Service

(c) Pager Service

(d) Post and Telegram Service

() Newspaper

()  Satellite Phone Service

(g) E-mail Service

Answer options :

(1) (a) and (b) (2) (9 and (g)

(3) (d) and (e) (4) Nore of the above

THOAT HIVE AN /SPACE FOR ROUGH WORK
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22. @etd faur fagmg = -

(2) 2001 9edl 10 <¥oe VST Geft sder Tovoreret Friem dser Ta.dl. spar fodis e
IS Fedl.

(b) T 2011-12 A et €@ TS 80% He FHNET TSR 04T e,

(¢) 110 WA 2N 52 TAAY FIYC IS e afia 3.

FEYH! Fom/d faum/ 3 J0eE aR/9?

(M (@b (2 @) G) ®IE (4) = (b)

Consider the following statements :

(a) The planning commission appointed the S.P. Gupta Special Group on Targeting Ten
Million Employment Opportunities in 2001.

(b} Apriculture sector will provided about 80% of all jobs by the vear 2011-12.

(c) The labour force is expected to increase by about 52 million during the 11t plan.
Which of the statement/s given above is/are correct ?

(1)  {(a) and (b} (2} (a)and (9 () (b and () (4)  Only (b)

23.

TeiEiH SR/ favm/ faun atee SR/ S ed ?

(a) 1904 N WEHN HIIG] T-HH 0T TEHETE W G H U= I A 0
e B,

(b) 1904 M HEAE Hrac] ASAE ARG HERR [quas FHIEE1 3MUR AN FwK.
&t s ;

(1) % @) (2) T (b) (3) =& (4) HIARA TR
Which of the following two statements is/are correct ?

(a) The co-operative Act of 1904 was passed to encourage self-help and co-operation.
(b) The Act of 1904 is still the basis of co-operative legisiation in India.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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24, VR ST SN R Weiciyd! FIvedl HEHNIEHT Hhou gt =59 &n ?

1)
(@)
(3
(4)

e HiteTh TE (CS0)
wfor sfeifites St (SIC)
At 3T i (IP)
T Féwmiss (PI)

Which one of the following statistical concept expresses the level of Industrial production
in India ?

(1)
3
3
@)

Central Statistical Organisation {CSO)
Standard Industrial Classification (SIC)
Index of Industrial Production (IIP)
Price Index (PI)

25, i QYU 91 HRSIHSTG rdAatdiel SETh aSSS! VI 3R ?

(a)
(b)
()
(d)

R 7 e ey s59 %,
THINTY T2 FHHI FHI0,

TS TEOHAT I[AAH FIOL

TR T Faea SRS e Ho.

I qaiy fEe :

@)

Tia wd () (a), (b)) (3) (a), (b) 30T (d) (4) (B) () IM(Q)

Which of the following are structural adjustments in the economy under economic
reforms ?

(@)
(b)
()
(d)

To reduce import - export restrictions
To reduce fiscal deficit
To invest in big cities only

To open financial markets for foreign banks

Select correct options :

(0

Allabove  (2) @ ®and@ () (@ Gandd @) () ()and(d)

FHoAT RS WA /SPACE FOR ROUGH WORK
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26, WS Jq3 GG vatE Wt ¢

(a) ufeeh deafe A
(b) TEU YFETHE QAT
() TrE YRS A
(d) <=E Jaatis q
ﬂﬂﬁi‘?ﬁﬂ':

(@ @®) @© (@
O @ 6 @ @
(@ (@) @ Gv) (i)
@) @ Gv)y @ @)
(@) (i) @v) () @

6
@)
(i
@

18

EECEE I UIEa
ST g1 IAEm

T 5T

Match the following and choose the correct code :

Plan

(a) First Five Year Plan

(b) Second Five Year Plan

(c) Fifth Five Year Plan

(d) Tenth Five Year Plan

Answer options :

@@ b 9 @@
L @ @ @) )
(2 (@) @ (v) ()
G @ Gv) @ )
@ (@) @v) @ @@

®
)
()
@)

Objective ‘

Rapid industrialisation
Improvement in ‘quality of life’
Top Priority to agriculture
Garibi Hatao

FoAT HMHGST AT /SPACE FOR ROUGH WORK
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27. TESHPTCT QICHed! IO FHEHAT §HR A& o ?

(a) g TEe

(b) RREYT =T

() oqfam

(d) T SvE

it I .

1) @Eafrd @ @afre @ @IwE @ @ W

Which of the following are the problems faced by small-scale industries ?

(a) Out-dated technology

(b} Efficient management

{¢) Lack of finance

{d) Lack of competition

Answer options :

(1) (b} and (d) (). (@) and (b) (3 {(gand(d) 4 (a) and (o)

28. @i R faEmm =,
(a) TG oY e ARSI T=I9AT 1955 |l e,
(b) T T EHE T 359 oy T 93 gE ¥ AR,
(c) Torem sam &g FEFT=T Yoaw §, 1979 W gl
Fhadw! FoR,/ T faum/3 | AR/
1 @I @ ®IO @ @@ @ v w
Consider the following statements :
{a) National Small Industries Corporation was set up in 1955.
(b} The main objective of it's that to provide machinery to small scale units.
(c) The programme of District Industries Center was introduced in May, 1979.

Which of the statement/s given above is/are correct ?
M) @and®) () MandE) () @and(@ (4 Allof these

oAl WHTEIS! F0T /SPACE FOR ROUGH WORK
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29, TREINT BOI Wed st Taauhifes (FDI) FI0 WA graw ?
(a) ul® &t
(b) eI WA dred
(c) TFFIG GURIN B
(d) TAAUEE 3l RIS T
() A MO HETETS & fa@T qar

Tgidt 39T
(1) (@) (b), (c), (e) 2 (@) ®) (o) (d)
(3)  ®). (), @) (e) @ @) @ () (@

Which of the following are the benefits of FDI ?

(a) Economic growth

(b) Raising level of investment

(c) Upgradation of technology

(d) Outflow of investment

(e) Develops human and institutional capabilities
Answer options :

(L) (@), (), (), (e) @ (a) ®) (), (d)
3 (), (0 (d), (e @ @) () (@) (e

30. ITAEEIS WEicH FIUR/ A T2 MR TEHEE! TR ot I8/ 3T 2
(a) SCOIEH T ARASA Fed! T,
(b) TETRfETES FHG GURTAMEG o,

a3 |
(1) () (@ wH ()
(3 = (4) THE R

Amaong the following which is/are the challenge/s for Indian industry created due to
globalisation ? i

(a) Greater competition in product market,

(b) Pressure for improving technological capacity.

Answer options : -

(1) - Only (a) - (2} Only (b)

(3) Both (4) Neither
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31. @Fﬂﬁwmﬂmﬂdﬁﬂﬁaﬁﬁmﬁmj
" TR TR S S TR FrE gt e Wﬂmﬂmw i S
RiE T
(1) . %R 2) Jtu=. e
@) . e (4) T F9
Which monetary economist has given the following definition of money ?
“Value of money is its purchasing power over goods and services and can be known from
relative price level”,
(1) Prof. Crowther (2) D.H. Robertson
(3) Prof. Seligman {4) JM. Keynse
32. g YA st

IR TRHRAT USFIR €1 Frel 2004 Aefidt gy,

(@ =i 100 fooe IS w4 L

(b) T A wEwE W w0,

(¢} AR oAl =il AR SaArE 4.

et S

(1) = =

(2) aba e St .
() (2 T (b) R

(9) 2 () TR

Choose correct option :

Provisions in Employment Guarantee Act - 2004 of Government of India.
(@) Employment guarantee for 100 days in a year,

(b} Public work for employment generation.

{¢} Minimum wages to working person.

Answer options :

(1) All the above are incorrect

{2) All the above are correct

(3) (a) and (b) are correct

{4) Only (c) is correct
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33. Twifew, anffes 7 foi Teeimn € fomi=n gastiwm gl A e daenfis dema
TR ST 2
(1) anaat g (2) EEt g
(3) <& AN (4) FAFTE AT

In which five year plan, the trinity - Social, Economic and Gender empowerment - of
women’s empowerment was accepted ?

(1) Eighth Plan (2) Ninth Plan
(3) Tenth Plan (4) FEleventh Plan

34, Era favmmer foum =
s Wi foren AR S A o
faum (1) . o= e e WA afiE ST TEE R TR,
Faramr (1) : Si= SooAT UERAE F YT WIYE € @9 99 e
AT |/ITW : |
(1) DA fqem =I5
(2) faum () s, (1) I
(3) ar fasmt s
(4) faum (1) s, (1) TF-

Consider the following statements :

In the context inequal distribution of wealth and income, the characteristics of Indian
people are :

Statement (I) : Whose source of income is natural resources.
Statement (II} : Whose main and only source of income is his/her labour.
State : .

(1} Both statements are incorrect
(2) Statement (I) is correct, (II} incorrect

(3) Both statements are correct

{4) Statement (II) is correct, (I) incorrect
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QR IV W fFfaaves HRenst sfie oma ?
(a) o= gESHF SO rsEeien Feft Hisger w0,
(b) TEIfR FHSTR WA F F
(c) T ST SEm Werl §hS Srga,
it I
1y F9% () C @ FE (9
@3)  (a) ¥ () (¢) =hw
Which of the following is/are the objectives of disinvestment policy in India ?
(a) Releasing public resources locked up in non-strategic PSEs.
() Reducing public debt.
(c) Transferring public sector risk to the private sector.
Answer options :
(1) Only (a) (2) Only ()
(3) (a) and (b) {4) Al of the above
36. @iE faur faare =,

(a) e TG U ¥ 0@ Fro geEh e amE.

(b) 9@&2013@%@W4.0%%ﬁﬁﬁ.

(©) 11 3FRE 2012 #A AWl JEal ORI 1 o 30% THa F el T

T B/ fFam/3 Tt /A ?

1) @=D) 2 ®F() @) @F() L@ W
Consider the following statements :

{a) The Cash Reserve Ratio (CRR) is an effective instrument of credit control.
(b) C.RR. was reduced to 4.0% on Feb. 9, 2013.

(¢) On Aug. 11, 2012 Statutory Liquidity Ratio was reduced up to 1 to 30%.
Which of the given above statement/s is/are correct ? '

(1) (a) and {b) {2) (b) and {c} () @and() ° (4 Only()

Tosl HATHIS WO /SPACE FOR ROUGH WORK

P.T.O.



Admin
Line

Admin
Line


HOS8

37.

24 A

e =raeR TRITaR Yot arl € el ewEt STased Ty ¢
(a) G HEA

(b) AR FOE fdvm

(c) o SEERREESTET yHOET

() T v
FATAHT B/ A T Rt/ 9T/ T ?
(1) (@3 2 ©ad (3) T (d) (4) FH (a)

According to Fisher’s transactions approach, a demand for money depend on the following
factors : .

(a) The number of transactions

(b) The average price of transactions

(c) The transaction velocity of circulation of money
(d) Liquidity preference

Which of the given above options is/are incorrect ?

() @and(®) (2 (Jand(d (3) Only (d) (4) Only (a)
38. 9 Y@ faer _
W, FeSR A YRER ATl UL HI X Y& Foar! Riem Fe ?
(@) TN W (b) T E (c) Wil W W
(dy <uml & (e) T '
i 3wy
10 @30 @ FWBA () ©F() (@ et @

Choase correct option :
Which tax was recommended by Prof. Caldor to replace estate duty in India ?
(a) Excise Duty  (b) Wealthtax  (c) Capital gains tax

(d) Gift tax (¢) Expenditure tax

Answer options :

(1) (a) and (b) - (2) Only(d)

(3) (c)and(e) - (4) None of the above
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39. Touiwn wHfam Freft SreavarE Srefiet®t Hrd saedier s faw ST (2005-10)
et oM ?

(1) TR anfor Fneafersri=n fada e g
(2) ToFEiwomen Tiwde e <u.

(3) T for qor =iy,

@) i s = <0,

Which of the following measures were recommended by Twelfth Finance Commission
(2005-10) to augment the consolidated fund of states ?

(1) Supplement financial resources of Panchayats and Municipalities
(2) Provide an impetus to decentralisation process
(3) Construct roads and bridges

(4) Push economic growth further

40. w‘mawm'mﬁﬁﬁﬁmwwwﬁmﬁ?
(1) I (2) g
@) Tl @) weRg

Which of the states in India was the first to establish a separate department for “Women
and Child Development’ ? :

(1) Kerala (2) Punjab

(3) Delhi : (4) Maharashtra
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41, A WA TE GEFEA (NSSO) IS Hered o e F0a[ TRl e, QIeiayHm ;
(a) ST wwr e g
(b) SASFI T ST fedt <=
(c) SRS =T SAfeA feerdt <=t
(d) SRrerT=n e e ferdt <=t

FUTAHT FIUT T4 Fahlwr 378 7

(1) % (a) @ @I @ ®Id () H(d)
National Sample Survey Organisation developed the concept of unemployment is as
follow :

(a) The usual status unemployment

(b) The current weekly status unemployment

(c) The current daily status unemployment

(d) The current yearly status unemployment

Which of the options given above is incorrect ?

(1) Only (a) @ @and( () ®Glandd @ Only(d

@aﬁaﬁaﬁﬁamw.

{a) VIa TESER GIREY TUIUe A9 § §Y9 dgaed aiddr vgdet Suifd s,
(b) TR AT TEAT SETA HOIREET THRA 2013 Bl W, TR |t gt e,
() THEeH He@r= Ha W 15% WA S e @l ST

ThSiET FRIv@/ A faem ater sRya?
0 @9 () W () .
G @I @ BT

Consider the following statements :

(a) The national level poverty ratio is based on Suresh Tendulkar Committee
methodology.

(b) The Government setup a committee under C. Rangarajan to review the Tendulkar
methodology in 2013.

() According to the Flanning Commlssmn, only 15% Indians are below povert'y level.
Which of the statement/s given above 1s/ are correct ?

(1) (a) and () (2)  Only (c)

(3) (a) and (b} (@) (b} and (c)
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I TR 0T TEgea] TeTed] IS i {96 See e Faifaes Heqe W el 2

(@) 9 (b) g

() derg @ fome

it v -

M (@ ®FE @ @ @
) ) ©FEQ @ @I

From production and sale of which of the commodities, does Government of India get
maximum revenue ?

(a) Opium (b) Liquor

(¢} Tobacco (d) Cigarette

Answer options :

1) (a), () and (c) (2)  (a), (b) and (d)
(3) ()} and (d) (4)  (a), (c) and (d}

44. GEE faue faarE =0

(a) 2011-12 A& Ba IR FHBUHIT TR 37.4% 918 FicHl, &= 34 31"l it 4 T 7
rewifeh I HgvaTa i o AN TR

(b) T ASHIEE! WAL T TR JISAT 1 5. 2013 < HYOl SRaW € A,

= fauriten! Fowyd faum/ siew smy/q?

(1) %= (a) (2} W (b) 3) @IOTA (¢ FH T
Consider the following statements :

(a) In 2011-12, growth in service tax revenue was 37.4%, which indicated that service
tax has been emerging as an important source of revenue.

(b) The Direct Benefit Transfer Plan was introduced on 1% Jan, 2013 with seven schemes
in all over India.

Which of the statement/s given above is/are correct 7

(1) Only (a) (2} Only (b} (3) Both (a) and (b) (4) None of these
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45. 49rg g9y frae
e I =B
(a) S TR e ST Foea S90 HITs] grtel e Tr.
(o) Todta TR fo@ o 9 Seara TEod 39 € 2
(€) TREEH W, AT, HIAW Wisael Wl AT SRl WE A
(d) VEgER AN Heget @9 s,
Tt g ;
1) (@) TR (2) (b) R (3) (c) R @ (@)=R
Choose the correct option :

Monetised deficit means :

(a) Net hike in advances of Central Governunent from Reserve Bank.
(b) Balance after paying interest from fiscal deficit.

{c) Total expenditure of government higher than revenue collection, grants, rnon
borrowing capital revenue.

{d) More revenue expenditure than revenue income.
Answer options :

(1) fa) is correct (2) (b)is correct (3} (¢} is correct 4) (d) is correct

46. SLIMUE.IW. FEO e .
(1) SR ST e ]9
(2) wrewiTE Y GEFH F.
(3) VIR e TR NS Seva a2,
(4) T GISE I YAYEST H,
BIFR was supposed to deal with
{1} Revival of sick industries
{2) Privatization of public sector
{3) Approval to use of foreign capital in Indian industries

(4) Financing large scale private industries
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47. T TeHE, V@ AT AR SEtEs FEA g0, Sl S SIE FR-gURen
Gt gafaer g 2
(1) ¥ T A0 Fplaa FT AR
(2) TR A0 IR AR
(3) FH T R sl AFfea = AR
(@) FH = A0 I W AR

To make tax-revenue more elastic to growth of GDP, which of the following measures
_ were suggested by the tax - reform comunittee ?

(1) High tax rate and narrow tax base

(2) Higher tax rate and broad tax base

(3) Lower tax rate and narrow tax base

(4) Lower tax rate and broad tax base

48. MRTP FH<T W H1gT 2009 Gl ™SI FHEW ORI Faars =1 .
() ¥m (2) ooui FES
(3) TSN (4) Wi 9RO IR (2009)
. MRTP was replaced by mn 2009.
(1) FEMA - (2) Competition Act
(3) AFSPA (4) Industrial Policy Resolution (2009)

49. Wi faur faamr =
(a) 2006-07 T ¥ F=1 WA= HL IO A= 31% Bl
(b) TSN TEgETel H w0 e waifi .
FlEE IR/ Taur/ W e /T ?
(1) w () 2) W) @) @I (4) T T
Consider the following statements :
(a) The share of central taxes in 2006-07 was 31% of the total tax revenue of states.

(b) The corporation tax is the largest contributor to the tax revenue of states.
Which of the statement/s given above is/are correct ?

(1) - Only (a) (2) Only (b) (3) (a)and ()  (4) None of these
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50. HRRIE TE9ME1 g et dsmdiel ©fd S el <5haiE 341 X (ACGR) Tt
B ?
(1) 83%FF (2) B6THF (3) 8.7 THk (4) 82T
What was the Average Compound Growth Rate of gross production in Maharashfra
during tenth five year plan ?
{1} 8.3 percent (2) 8.6 percent (3) 8.7 percent (4) 8.2 percent

51. SN Al AASEBA TR HE FE Y Wil 19 @) SdeEl S90a arml 91

WITIT] 14 U ?
(1)  Sanfger Jeaar Ui (2) T e R
(3) Wihe (4) FGTIH PG AR

The commercial banks have to use some proportion of their cash to buy government
securities. It is called as :

(1) _Statutorv Liquidity Ratio {2) Cash Reserve Ratio

(3) Reporate (4} None of the above
@ g vty e

TRRTET e S Ay

() VIRETSH TR ARTES A HeNIrE e 12.7% TR,

(b) RAT TEHT AfATREE T W WA AERIE %8E 16.4% FET IR,
(¢} I FAEAE TR 61939 <. 1.7 @R F96A o1,

(d) 2001 =1 SFETIRTER ST THU AREET TESE 9.32% TEEE gl
Taidt 99

1) (a) 2y ()9

¢) (@) @) otw ud

Choose correct option :

Salient features of economy of Maharashtra :

(2} In total cultivated land of India, the share of Maharashtra is 12.7%.

{b) In total irrigated area of India, the share of Maharashtra is only 16.4%.

() In Indian forest, the share of Maharashtra is 61939 sq.k.m.

(d) As per census of 2001, in total population of India, Maharashtra’s Population was

9.32%.
" Answer options :
1 @ {2} (b} and (g
@ @ - (@) Al the above
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T TZTAHT (2009) TR PET=n Mgy WA dgdidie 97 Jei Mafaem @& 7ot

. e ———r *

(a) FHATCH HREE
(b) “oFEErn g e

() SHT lEEHIED

(d) TIEER fs 9 AR glagi E@a

T I

(1) =04 (), (b), (© (2) T (a), (b), (d)
@) = (a), (), (d) L@ S 0) () @)

The Suresh Tendulkar Committee (2009) has pointed out the three deficiencies in earlier
poverty estimation methods. They are :

(a) Outdated food articles

{b) Defective inflation index

(¢} Birth rate index

(d) Facilities given by Government in education and health

Answer options :

(1) (a), (b, {c) of above () (a), (b), {d) of above
@ () (¢}, (d) of above (@) (), (9), (d) of above

54. -geiet faurien foa=m .

faar (1) - Wwﬁwm@wﬁmﬁﬁwmﬁmﬁmﬂmﬁwww
TEvET.

faurT (11) - 3= v Yvarem E9a AN EMEE 9oF, deeeld Owar fE 9 3@ e
AT Bl

ST |

(1) favm @ =, (1) 5

(2) Toum a1 ==, (1) %

@) TR faaH g%

(4) < faum T

Consider the following statements :

Statement (I) : Generally, the money that can create credit money is called high powered
IMONeY.

Statement (IT) : High powered money includes currency in the hand of people, liquidity
of banks and other deposits

State :

(1) Statement (I} is correct, {II} incorrect
(2) Statement (I} is correct, (I} incorrect
(3) Both statements are incorrect

(4)  Both statements are correct

HodT HIATEARE AT /SPACE FOR ROUGH WORK

P.T.O.



Admin
Line

Admin
Line


HO8 32 A

@ wrete faur foamm .
(a) 2014-15 VYA FERIZISN Wom QA TaHTH ST 10.8% Bl
(b) 201415 TE AERIY TH@Id YT IAGTA Wl QAT 21 51% =
(©) 201213 T2 TR WT HAMG AR THFT SA=T T2 22% Tl

T Hiva/ 9 faur/ s amwey/a?
1 @) 2) @90
@ ®F{) (4) ()

Consider the following statements :
{a) The growth rate of service sector in Maharashtra in 2014-15 was 10.8%.

(b) The share of services sectors in Maharashtra’s Gross Domestic Production was 51%
in 2014-15.

(¢) The share of construction sector was 22% in the Maharashtra’s State Gross Domestic
Production in 2012-13.

Which of the given above statement/s is/are correct ?
(1) (@ and ) ) (@and (¥
(3 () and () () Only (c)

56. WRA TSR] WEeis aRer-fAarum=n v srismeiata niem w6 o™ g fea
e ? :
(1) TSRIE (2) smsmILd.  (3) TEHASLAA @ =T

Which of the following anti-poverty programumes of the Government of India provided
subsidised food to the poor people ?

(1) NREP (2) IRDP @) SIcY (4) PDS

@ R 14 =41 faw SEmr wiga =[St fgedt S s ?

(1) fam wa @2 = =G

3) ghwam (4) ¥ WOR WE

Who was appointed as the Secretary of 14% Finance Commission of India ?
(1) Vijay Kelkar ) Dr. Y.V. Reddy

(3)  Sumit Bose (4) Abu Saleh Sharif
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58. eI faymiar fa=ar #4.

HERISZRITE Tehr &= Tomeae

faum (1) : WERME TERE TR USRI SR ST A1 12.5% 3.

FeretrT (11) : ERTET 229 HeHRY Wl W I A 11000 &Y &7 TFEEEE] A 3R,
TAT |

(1) Tavm (0 slsr, (1) &

(2) faem () SR, @) %

3) ‘qﬁrfauﬁ EIET

(4) <l e g%

Consider the following statements :

In the context of development of cooperative sector in Maharashtra :

Statement (I) : In total employment sector of Maharashtra, the share of cooperative
sector is 12.5%.

Statement (I} : There are 229 cooperative agriculture institutions in Maharashtra, that
has brought 11000 hectre area under cultivation.

State :

(1) Statement (I) is correct, (II) incorrect
(2) Statement (II} is correct, (1) incorrect
(3) Both statements are correct

{4) Both statements are incorrect
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Ga%hWW%m

ATATE T St (2 SHaerat 1980) U= v gies Frer & o ffifd e g +am
AT ?

(a) T0F Tt JSETR HEEA

(b) T JfEE AR et FEHA

(c) omaNfaT AR FdsHA

(d) HawEE TR AT

() TN
watdt 4t :
(1) (a) () F(d) @ ®FI@
(3) H9 (e) @ ®)F(e)

Choose correct option :

Which of the following poverty eradication and employment generation programme was
incepted in India on Gandhi Jayanti (2™ October 1980) ?

{a) National Rural Employment Scheme

(b) Rural Landless Employment Guarantee Programme
{c) Employment Assurance Scheme

(d) .Prime Minister Rozgar Yojana

(e) TRYSEM

Answer options :
(1) (@ () and (d) (2) (b and (d)
(3) Only (g) (4) (b)and (g)

60, TEIATH FIR A0S e FIas HR AR 7
(1) eeEee e pEeTa gat
(2) wrwe Sy g
(3) Tk =@
@) Wi e
Which of the following is not a cause of demand pull inflation ?
(1) Increase in money supply in the economy
(2) Reduction in savings of people
(3) Rise in exports
(4) Increase in wage rate
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61. e W O Wi faet

(a)
(b)
()
(d)
{€)
()

= snam =

AU FA AT G |
HSHTE ol I wiwed

HIHY JIE AEET WK

i FN favas afird
Hag ol ger |fid

Yo G IR YRSt Wbt

T I

(D)
(2)
(3)
(4)

@ B @ ) ¢ O
@ @ @@ Gv) ) )
() (v) @) @ G (@)
v) @ @) @@ & )
V) () (v @) @ @

Match the following and choose correct code.

()

- Irrigation Task Force

Fact finding committee of drought area
Eight month Water Distribution Committee
Konkan Master Plan Committee

Regional Backlog Committee

Mumbai Water Supply Committee

Mumbai Metro Water Supply Committee

Answer options :

1)
(2)
(3)
(4)

@ @ (& @ (g ()
(M @ 3@ Gv) @) (@)
(vi) (iv) () () (i) (v)
vy ® (@) () (v (V)
(vi) (v) (v) @) (@) (@)

0
o
i
¥
Y
vi)

T 9y

1984
1981
1995
1979
2000
1973

Year of Establishment

0
)
i
)
®)

(vi)

1984
1981
1995
1979
2000
1973

HO8
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$2. YIS qEng gl feses Ay g .
(a) TTEE FiAUE SR TR HE gREe

()  awr grETeE giawiEn A fawm
(c) sfiwa snfor Qe eien gehd AN

TeEAE! S YL
(1) %a (a) @) ¥32 (b)
(3) FaL (c) (4) =&

Expansion of infrastructural facilities in India is characterised by
(a) Provision of infrastructural facilities mainly for the urban areas
{b) Inadequate development in rural infrastructure facilities

(c) Bias in favour of rich and more affluent

Fill in the blank.
(1) Only {(a) (2) Only(®)
(3) Only () (4) All of the above

63. NSSO A feiear SUNTHI=N AGETER SEEA sRINFIRI o SlemRIa! )
) = ygE =@
(2) wrafEs sEen
(3) = sren
(4) Id Al

As per the definition of unemployment given by NS5O, chronic unemployment means

(1) Usual Principal Status Unemployment
(2) Weekly Status Unemployment

(3) Daily Status Unemployment

(4) Underemployment
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64. U IO VKA HERreeal vieas gt i - ?

(1) EEEe '@

(2) s it angfes el T

(3) ST SO |

(4) FEEERY glauEid @9

Which of the following is not a part of capital expenditure of Central Government of
India ?

(1) Expenditure on defence
(2) Expenditure on Social and Community Development
(3) Interest payments

{4) Expenditure on general services

mq@aﬂaﬁﬁﬁmzms-lswhﬁmvﬂumm T I U e
__ @
(1) 7.8% 37.5% (2) 7.4% A475%
(3) 159% A 7.4% 4 78%974%

The share of renewable energy in electricity generation in Maharashtra has been
in 2015-16; while that of Tata Power has been

(1) 7.8% and 7.5% () 74% and 7.5%

(3) 15.9% and 7.4% 4) 7.8% and 74%
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66.

38 A

e fagm fa=me .

(a) 1985 TH WA WEHRA TETARR W T i gE wel.

(b) 1999 A Wl Rrsiemet T et i Foren e e Feh

Fherd= Froa/d faum/ |9 swe/a?

(1) I (b) @ @3k - @ T (@) o
Consider the following statements.

(a) The Government of India launched a comprehensive scheme of crop insurance in
1985.

(b) National Agricultural Insurance Scheme introduced for Kharif crop in 1999.
Which statement/s is/are correct from above ?

(1) Only (b) (2) (a) and (b) (3) Only (a) (4) None of these

67.

areire feem famrad =

(a) VUFES TH-ws®H G feE, 2000 7 T Fe.

(b) mmwmﬁtﬁﬁtﬁﬁwm;

(€) 500 Tihatdl STucea Wy T&l Grasn THST AT SEU 81 91 For=n &% 3¢9 37,
ST HEl/d faumy T wker sTRa,/ e ?

Q) (@) @ ®FE () @F( @ @b
Consider the following statements.

(a) The Pradhan Mantri Gram Sadak Yojana was launched in December, 2000.

(b) Itis fully funded by state government.

(c) The objective of providing connectivity to the eligible unconnected habitations.in
the core network with a population of 500 persons.

Which statement/s is/are correct from above ?

(1)  Only (a) (2) (b)and (o) @) @and () (4) (a) and (b)

—
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Sire S Arg T fEsn

(@)
)
(©)
(d)
)

Ean

=& it

T shidt
=TT Sl

FHE! Hidl .

W i

(H T wt
atdt 34

@ &) (& @ (¢
O 0 () @ ) @
2} (v} (v) (Gv) (i) (i)
3 O @ @ ) @
@ ) vy @ @ @)

39

o

(@ der fEoaEE
(i) & (SFTEEET)
(i) GEEES
(v) WEEEEEE
(v) feiveamEET
(vi) sTsgmETe

()

(vi)

(i

(vi)

)

Match the following and choose correct code.
Rainbow Revolution of New Agricultural Policy.

Revolution
{a) Silver Revolution
(b) Pink Revolution
{c) Transition Revolution
{d) Gray Revolution
{e) Golden Revolution
{ff Yellow Revolution
Answer options :

(@ (b)) @ (& (¢
® O G » G
@ v &) Gv) () G
@ O O @ &

@ i) vy @ ® (i)

Context

(i) Oil Seeds
(1)  Fruit {Pineapple)
(i) Fertilizers
{iv) Spices/Condiments
{v) Shrimp ’
(vi) Eggs

(0

(vi)

(i)

(vi)

W)

HO8
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69. RIS g U w1 A e 1973 Wel R F1EE TER AR i
T 1 SRt 1974 YA @ T S9N SEE wm ?

(1) fadw fafnm s FEE (FEMA)
(2) fa<ita emeEr anfin siRTSTT=RM =R FEe (FRBMA)
(3) =maEEn (fam oo F=m7) FrEg

(4) fw fafma fmm =

To control the operations of MNCs in India, which Act was promulgated in 1973 and it
came into force on January 1, 1974 ?

(1) FEMA (Foreign Exchange Management Act)
(2} FRBMA (Fiscal Responsibility and Budget Management Act)
(3) Industries {(Development and Regulation) Act

(4) FERA {Foreign Exchange Regulation Act)

70. U= 99w Usear R SR 919 S9N g9 F0d 3730 RN et e ?
(1) 1951 (2) 1958 (3) 1977 (4) 1985

When did National Development Council recommend the entry of Govt. of India into
food trade ?

ks

1) 1951 () 1958 (3 1977 (@) 1985
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71. i fauriEn fa=r %

WRaTe! EURON HHT gaud

faur () - T 1947 - 48 A THW A= 57% WF AT A WA wgEan s
3 2.

fawum (1) WiERt Tgd & PRI WNIaL S 2.

a3 :

(1) faum @) SR, (1) 9%

) faum ) s () 9%

(@) SHAfawm =

(4) D fau sAw

Consider the following Statements.

About land reforms in India :

Statement (I) : In 1947 - 48, 57% of total farm land was under Zamindari and Malguzari
system.

Statement (II} : Zamindari system depended on the exploitation of farm labourers.
Answer options : '

(1) Statements (I} is correct, (II} incorrect

(2) Statement (II} is correct, (I} incorrect

(3) Both Statements are incorrect

(4) Both Statements are cotrect

72, SRR JOFH UETERE 9 6 Y STIRTHE! SN YRR gfayn deEr (CMP) StfaierR,
2003 TvA FHEi=g Jer. 91 derd] TeT 369 F AR /TR ?
(a) 2uRTA foes TG A T TERR) HHi Aos(ar Ho,
(b} 2WEA AHTHSIAIA HoAl TN IR oA RO TSI SAOn,
it 3N :

1) ¥ (a) @) %es (b) G T @ wET
Which one of the following is/are main objective/s of a Centrally Sponsored Scheme

‘Strengthening Infrastructure for Quality and Clean Milk Production’ (CMP) launched in
October, 2003 ?

(a) Revitalizing the Sick Dairy Cooperative Unions at the District leve] in the country.
{b) Improving the quality of raw milk produced at the village level in the country.
Answer options :

, (1) Only(@) (2) Only (b) (3) Both (4) Neither
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73.

42
RULRE CRCCEH
YRARTS G TEUTa TR IR G2eh
(a) foepiel SEca (b) Towdl a oo AgH S
(c) VW= AHR (d) SIS TR o
(e) STET= IqTST (®  HRom ygdt
aidt I :
1) (@) ®)F (2) @afe)
(3) W T TF (@) = T AR

Choose correct option.

Factors é.ffecﬁng Indian Crop Pattern :

(a) Crop rotation () Maximization of Price and Income.
(c) Size of farm (d) Risk coverage insurance

(¢) Availability of Input  (f)  Land holding system

Answer options :

1) (@), (b) and (c) (2) (d)and (e)

(3) All the above are incorrect (4) All the above are correct
74. el faur fe=mm =

(a) A FHt fah™@ e WA 2007-08 A YT HUEG .

(b) frar e wg AP SRAEEE AT, 1998 T[T IR I .

(¢) UL Pt faH FieR YRARA 16 T (AT A0 '

Fhetet BIR/A fomy S SeT s/ ?

1) T (a) 2 T () @) @Fb) @ RN
Consider the following statements.

(a) Rashtriya Krishi Vikas Yojana was launched in 2007-08.

(b) Kisan Credit Card Scheme was introduced in August, 1998.

() National Agricultural Insurance scheme is implemented in 16 states of India.

Which statement/s is/are correct from above ?
(1) Only (a) (2) Only {c) (3) (a)and (b) (4) all above
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75. W 94 g ;

Al iiEe RS A= 63 ¢

(@) ﬂﬁ"ﬂ'ﬁﬂ’ﬁ@ (b) T anfur et

(©) 3 oA (@) s faew

i TR ;

(1) (@9 @)d (2) (a)afb)aﬁrrﬂ

(3) (), (b) N (c) WA (4) 9 (c) 3 () TR

Choose correct option :

In the context of Human Foverty Index :

(a) Long and Healthy Life Expectancy (b} Knowiedge and Information
(c) Standard of Living (d) Social Standards

Answer options :

(1) (a) and (b) are correct " (2) (a) and (b) are incorrect

(3} (a), {b) and (c) are correct (4) Only (c) and (d) are correct
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76, WEie SIS Jo.

(@)
(b)
(c)
(d)

'®(FE)
HERTE (Hag) TR HAE
TERTS. ST URoN Fra
TERTE HIER F1ET HHE

HHEAT R[4

waf 3wy

Rt
(2)
-3
(4)

@ B © @
® @ @ @
@ (@) @
@ ) @ o
™ @ @ @

Match the following pairs :

(@)

(b)
(c)
(d)

‘A’ (Law)

14 _ A

/' ()
() BREIEE Yguv e SuEE s
(i) =M g FrEm
(i) et T g
(iv) SESieT ST AT EAaRoTaTe: Riaay

‘B’ {Provisions)

Maharashtra {Mumbai) Municipal Act (i) Control of accidents and pollution in

Maharashtra Land Reforms Act
Maharashtra Motor Vehicle Act

Factory Act

Answer options :

(1)
(2)
3
“

@ b © @
O @ G
@ G )
@) () @) 6
) () @ @)

Factories
(i) Control of Vehicle pollution
(i) Maintenance of genei-al sanitation

(iv) Restriction of conversion of
agricultural land for other purposes.
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Jawar <, Fae fEm gien genTar gu=n efta shidla aeia el aaay T
(2) YRl AN STTAHTNA WREE Ao TR H95d Tl

(b) T STARTE JEEE FH) F,

(c) SR JUREN FI@,

(d) YA T TaEvEsE G AU,

At 3w

1 @30 @ @3 @) () (4) wHR{)
The Second Green Revolution proposed by Prime Minister Dr. Manmohan Singh, does
not include -

(a) Helping Indian farmers participate in global agricultural trade.

(b) Minimize loss of crops.

{c) Improve storage of crops.

(d) Encourage foreign direct investmnent in agriculture,

Answer options :

(1) (a) and (b) (2 (Qand(d) (3) Only () () Only (d)

78.

il T HesEl.

YRAG a9 adie widre Wiy 9€iF Sien fameradt 89 1985 a9 i
foeeni< frars et

(a) AT (ITURM) (b) ieEn (wiem ST)

(€ TR (HEW) (d) dEEHl (Hlew)

(¢) T (BUHTS) () TR (TE)

(& TToTE (3nfEn)

it I

(1) ©9() 2) @9 3 @=@®. (4) FH (g)

Choose mismatching group.

Indian Forest Department in association with National Waste Land Committee selected
certain districts for development and reclaimation of waste land in India in 1985 :

(a) Almora (UP) (b) Puruliya (West Bengal)
(c) Latur {Maharashtra) (d) Bellary (Karnataka)
() Bastar (Chhattisgarh) () Durgapur (Rajasthan)
(g) Sangargadh (Orissa)

Answer options :

1) @and(e) (@ @and®) () @and(  (4) Only(g

HoAT HIFHE SN /SPACE FOR ROUGH WORK

P.TIO.

: smt o e e ok e 4 e e e . © e i

A (kb S e L TR


Admin
Line

Admin
Line


HOS8 46 A

79. URh AU AR AT TR T SRS GICHTIR HIORAT T FHI0AE AT 2

(1) wfw, 1983 (2 "ad, 1974 (3) U, 1993 (4) H¥E, 2003
Which year SAARC Preferential Trade Area (SAPTA) agreement was signed by
SAARC country ?

(1) April, 1983 (2} January, 1974 (3) April, 1993 (4) March, 2003

80. TME) fah, 2014 =7 ARG e T FEie qearqur S YA Fdishe g, Aq
FEAETIER WY U fas@ FEFa Heeraqm qrer fawm Fewie, 2013 T9R 9rd 187
Uit 135 = IR AR, WA fomm FEviae weww iod #1613 SR Tl
TSl AT E 7
(1) 1 (2) 100 3) 500 (4) 1000
In the Human Development Report, 2014 Norway ranks first with HDI Value. According
to this report, India ranks 135 out of 187 countries in terms of UNDP's (United Nations

Development Programme) Human Development Index for 2013. What is the maximum
value of HD], which no country has succeeded in achieving it ?

1) 1 2) 100 (3) 500 @) 1000

81, W delt it HoA wRwem fedey, 2013 WA SARiATaS gawr sufor fasramn weitw
Jejeufafiaa Iretelt Weifyq R srfires vl Soofawly ool el caRiter welideE SO
T Heere Y AR ?

{a) HiUfgETs FTIHIASE € ST I,

b) AT YA T &1 i awes ST+ T Hean 79

(c) ifaees axst Frafa w9 FHo.

(d) SOEHT TE

i e

(1) e (a) (2) a2 (b) 3y (@), (b) @ FE (d)

The Bali Ministerial Conference, December, 2013 taken agricultural issues more seriously

alongwith trade - facilitation and development issues. India has demanded in Bali
Conference, which one of the following important issue ?

(a) To increase agricultural subsidies

(b) Not to count food security expenses as part of agricultural subsidies

(¢)  To reduce export of agricultural goods

(d} Neither

Answer options :

(1) Only (a) (2) Only (b) 3) (@), () (4) Only (d)
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82. eI Taumin fa=r &
fawmT (1) : 1951 =00 gera 3T Qe IARAR 10 T 8% Fe.

ferart (1) m%ﬁﬁﬁmwﬁﬂﬁﬁmq s, ), T, WS %SW
 THeret,

AT I

(1) faum (1) 5=, (1) kS
() foem () SO (1) 5
(3) T faur u®

(@) IrE AU slEe

Consider the following statements.

Statement (I} : In comparison with 1951, presently steel production has increased by
10 times.

Statement (II) : India receives essential help in steel production from West Germany,
Russia, England and France.

Answer options :
(1) Statement (II) is correct, (I} incorrect
(2) Statement (I} is correct, (I} incorrect
(3) _ Both statements are incorrect

' (4) Both statements are correct

83. g v fasL
WU 3 1 Hehewd e m‘lvrc‘m A1 GArEY Al ?
(a) WHAT HID (b) oMU
() dfus fm (d) <Efay ¥Ez
afar I :
M @ ®IE ' (2) 9= (d)
(3) %d= (a) (@) SOt Sud T

Choose correct option.
Which of the following factors does multmal:lonal corporation include ?

(a) Transitional Corporation {b) International Corporation
(¢} Global Corporation {d) Multiple Corporation
Answer options :

(1) (a), (b} and (c) (2) Only (d)

{3) Only (a) (4) None of the above
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84, AR Nt SHIE TAETYROT HIK A1 T :

(a) 1947 HEl 23 O GATT FITE Tl e,

(b) WIRERT 1994 B GATT RYIERA fraacral o,

() 1994 T 118 3 GATT ¥ |WEE &N

Fimdt Fom/d foum/S aimw sR/a?

1) @) ) @) (3 ®»I() (4) o (b)

Consider the following statements about General Agreement of Trade and Tariffs
(GATT) :

(a) GATT was signed by 23 countries in 1947

() India got the membership of GATT in 1994

(<) In 1994, 118 countries are members of GATT

Which statement/s is/are correct from above ?

() @and() _ (2 (@and() (@) ®and(@ (4 Only ()

85. UEF WIGHEST YNy, 2000ﬁ§aﬁwﬂmwuwﬁ$ﬁwm &7 2010

vid Weg IR0 Sl

(a) 14 Ftedae gor aE faege g s R o

(b) <, 7, faam snftr wige-fem =i 80% g T o,

arertat SRR faary g s/a? |

(1) = (a) 2 @9 (3) T (b) @ AR

The National Population Policy, 2000 has suggested following national socio - demographic

goals to be achieved by 2010.

(a) Make school education upto the age of 14, free and compulsory.

(b) Achieve B0% registration of Birth, death, Marriage and Pregnancy. |

Which of the statement/s given above is/are correct ?

(1) Only (a) (2) (a)and (b) (3) Only (b} (4) None of these
86, WEEINH! HIvEl 2% ' STy Feeaw defug e 2

(1) $ERfim 2) famg (3) WS @ =

Which of the following country does nat belong to ASEAN ?
(1) Indonesia (2) Singapore {3} Thailand (4) <China
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87. WA Tl e, | |

(@) ST SIS & TR

(b) =R e Hagq

(c) I wroi Srefavar s e fad

(d) g Tl @ i frfm

(¢) T M TR A=W

it I

M @I ) o) O

(3) e T TR (4 T TWETH

Choose correct option. | '

OBjectives of water shed management in India :

(a) Forestation and Tree Plantation

(b) Rain water harvesting °

() Increasing capacity of ground wlater level

(d) Digging trenches and water feeding

{e) To Promote agrobase industries.

Answer options

(1) (a)and {e) (Z)  ®) (c)and (d)

(3)  All the above are correct - {4) All the above are incorrect -
88. mm'mwmmmﬁujaﬁ?

(1) M () = @ @) |

_ Which of the following country has corporate farming system in modern times ?

(1) Russia (2) China (3) - America (4) Israel
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89. YuEE e T faerareR foule oX 3vam SMe. T Y=EIE A TH sl et

43 7% TAAU TehiTeeh TIIoL e rTen ] STero et ST SATett, ZhTaTeen Tefalifer Zroraferia
Trdtor faehrerer fome R Avarg aen ?

(1) TG deEE don (2) e yaEfie A

(3) e UdEn s der (4) 3THYET YoETNE G

In the Five Year Plans had laid special emphasis on rural development. In one of the five
year plan 43 percent of total investment is made available for Integrated Rural
Development. In which five year plan had laid special emphasis on rural development ?

(1) Second Five Year Plan (2) Fifth Five Year Plan

{3) Sixth Five Year Plan (4) Eleventh Five Year plan
90. HRY WEHRA EHRedr S faa sHaa= geg e Ereoy T e

(2) o= fowm ®) T& fE

(o) WE - oo (d) T =R

it HvR/H faur, ¥ e eng/a?

1) @9 2y @30 3 B3I @ @3

The public distribution system has adopted by the government of India. The features of

PDS are as follows :

(a) Child development (b) Dual prices

(c) Centre - state control (d) Foreign Trade

Which is/are incorrect from the above ?

(1) (a) and (b) (2) @and (9 (3) ®and (o) (4)-_(a) and (d)
91, RET fashraT=l qEte SATEAT SN el ?

"ved T RS T faRE S BEl TReie IaH R fERfan 3 areE Sere <«
HURY ¢ Hie o g

(1) Yeoie Hea™ ) <
(@) % wiE (4) T e

Who has defined sustainable development thus ?

~ "“Sustainable development is that development that is likely to achieve lasting satisfaction .

of human needs and improvement of quality of human life”.
(1) Broodland Report (2) Raymond
(3) K. Parikh (4) Robert Allen
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92,

51 | HOS
uRE et Hehe YR wdie favaiEe seeT A 19
(a) TRTITARH (b N faa
() Vet IR (d) vy fegH
Flatet wrom/FIoR w1 g s/a?

1) (@4 2) B9 ) {c) @ (d) | 4 @F)

The Indian Council of Agricultural Research organise activities on the following
subjects :

{a) Horticulture _ ’ (b) Agricultural Credit

() Agricultural Marketing (d) Animal Science

Which above option/s is/are correct ?

(1) (a)and (b) (2) () and(q) () (o) and (d) (4) (@ and{d) .

93.

WRET T SR T W IO S e

(a) AL SIS FYFe TATHR FREE e g 30

(b) SIS T FT. |

(0 Ve A SR 3,

(d) SRS RS a6 FEE0 S,

liat! Fod/d v s /a2

1) @ @ @@ @) (o) (4)
Indian Institute of Foreign Trade is engaged in following activities :

{a) Training of personnel in Modern Techniques of International Trade.
{b) Conducting market research. '

(c) Promoting the agricultural import.

(d) Commodity surveys related to Foreign Trade.

Which option/s is/are incorrect from above ?

1) @ad®) (2 (©and (@ (3) Only (b) (4) Only (o)
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94, 2005-09 W FRNEHT FF Fow R Fator wrEEw vt e geSiet oy #ea
FHOA A, S Jym

(a) TIvart ol 3 @ (b) Ty TR

(c) TN AR (d) Teor fererfera

aterdien! FIv)/d qal I AR/ ?

L @30 @ @3 (3) i (b) 4) (o)

Bharat Nirman Programme launched in 2005-09 which focus on following components
for development :

(a) Drinking water and sanitation (b} Rural housing

(¢} Built-up highway {d) Rural electrification

Which is/are incorrect option/s from the above ?

() @and®) () @and(d  (3) Only @) (4) Only (0

95, AT Ty fEw,
T HeleaeT AREHiaa weneaRT FRmwEsd ome
(a) UV ASRUSH T
(b) I Teditwa Tl arEs
() = T SEEd
(@) ==t I v HaEw
(e) HEET T IIEET Wiww

it 3T
1) @ )3 @ @9
(3) a0 |d IrY M 4) i w4 srdrg anga

Choose correct Option.

About horticulture development under National Horticulture Mission :
{a) Healthy market

(b) High profit crop cultivation

{¢) Use of high technology

{d) Development of contract farming system

{e) Research and Scientific Process

Answer options ;

(1) (@), (b and @ @ (d)and @)

{3) All the above are correct (4) All the above are incorrect
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96. R PN IARA FrRAeA1 1z ST FHHdl ST ST et T Scaleeh Va2l Fearv Svaramy
(1y frm sy feag - (2). duifww fEEm
(3) TS W ) Faww Fma
is the price fixed by the central government to protect the producer - farmers
against excessive fall in price during bumper production years.
(1) Minimum support price (2) Statutory minimum price
(3) Procurement price . 4) Issue price
97. 31 4, 2013 &0 WERE _ & iy SFRYeT | T HERYS]
HiteEa g, .
(1} 278, 577 @) 327,82 (3) 228,623 (4) 305, 603
In Maharashtra on 315t March, 2013 there were __ APMCs with main market
and sub market.
1) 278, 577 (2) 327, 826 (3) 228, 623 (4) 305, 603
98. TN HfY femr 7 Hevem Tiwg it Sifeqeaa SwElt 3R O 99 TEaRy .
(1) 1974 (2) 1984 . (3) 1994 (4) 1986
Maharashtra Agricultural Education and Research Council came into existence in the
year ___ with headquarter at Pune.
(1) 1974 (2) 1984 (3) 1994 '(4) 1986
99. WNATHEA GETUR! Hivrear Tie SAUTATA Taqvfar a6 W e et ?
1) T i (2) v&d &l
() =Re wia @) = shidt
Which of the following revolution has resulted in self-sufficiency and surplus of
food-grains in India 7 .
(1) Yellow revolution (2) White revolution
(3) Green revolution . " (4) Blue revolution
100. W¥T= SR demsiae wufrs maen G sermed HeriA SAfEE AR,
(1) 320 (2) 470 (3) 450 (4) 385
In mid-day meal programme, primary school calorie intake should be cal.

() 320 @) 476 (3) 450 (4) 385
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101, IOHRET SEvas U W% (Hoid) THEE g Sl T aet famEre O

HEvEF AR :

(a) W TR ) YU Jauw (dhea)
() FdHw (d) TAH 9 SRTE
Taidt 38T ;

1) (@) (), (@) 99 9= smea
(2) *aS (a) o A7 o

@ @ bo faum T sTea
@ (@), b)) (d) Ry A g

In estimating calorie requirement following factors are taken into account :
(@) Physical activity () Body size composition

(c) Malnutrition (d) Climate and environment
Answer options :

(1) (), (<), (d) Statements are correct

(2) Only (a) Statement is correct

(3) (a), (b) and (c) Statements are correct

4y All (a), (b). (), (d) Statements are correct

102. “tlgﬁmagmarqﬁq&ﬂn" A H e FIREian AR, 1969 7Yl ** 3wl 4 den"’

& 0GR IS, A1 3G Hee@d 37y @A

(2) W ELIM M (o) . e

(cy = Rfee (d) . oA gud

it 3y

(1) (a) faum 9y o (2) (b) Fum 9r AR
@) (¢) faum 9y ey @ () foum Ay R

The “Lead Bank Scheme” was launched on the recommendations of the study group
appointed by “National Credit Council” in October, 1969 under the Chairmanship of :

(@) Prof. DR, Gadgil (b} Mr, Shivaraman

{c) Mr. Narsimha {d) Mr. AM. Khusro
Answer options : ‘

(1) (a) Statement is correct (2) (b} Statement is correct
(3) (<) Statement is correct (4) (d) Statement is correct
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103, A SO T ¥ ST R SERET T SR 3E. A alfyE wued

TvEs] T g

(1) 50380 A . (2) 54784 T T

(3) 64185 TUAI e (4) 803100 T &

Soil erosion is one of the reasons for low productivity of land. The annual average loss of
nutrients from soil due to soil erosion is

(1) 5.0 to 8.0 million tonnes (2) 54 to 8.4 million tonnes

(3) 6.4 to 8.5 million {onnes (4) 8.0 to 10.0 million tonnes
104, I I WEUHEE] STERAT FEISARFA (DASH) 34 3m.
(1) fuoe= = =i (2) fher 39 9=
(3) WEE = () TEE BT GO
The Dietary Approaches to Stop Hypertension (DASH) are diet.
(1) Low Salt intake (2) Hyper Salt intake
(3) Low Sugar intake (4) Hyper Sugar intake

105. WWWWW YRA A §T 1989 |iell ' H vqqLEer FARmE
HfHdrst’’ (Agricultural Credit Review Committee) ¥l Fiell. 41 dfirdts stvas
A,
(1) Tus. dFegan (2) TUH. GE
@) SLIR Teie C @) SOEYE Froie A

To take the review of rural credit, Government of India has appointed “Agricultural Credit
Review Committee” in the year 1989 under the Chairmanship of :

(1) S.B. Venkatappiah (2 AM. Khusro
(3) DR Gadgil (4) None of the above
106, ¥ wwid 3@ dew TeEa fawinen e 3 w5 w.
(1) THNFIEE (2) TR
(3) TEIRISH @) W wdE (faftEa ufe)
alone can work as a source of energy for central nervous system.
(1) Monosaccharide (2) Glucose

(3) Glycogen (4) Spare proteins
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56 A

feirren @ee YeEIfes dea wEis T ST T

(1) Ter y=anfie I (2) Tofta deaiftis I
OIS CEREEUEEI Rl (4) e w4 wEg
Irrigation was given the highest priority in .

{1}  First five year plan {2) Second five year plan
{3) Third five year plah {4y All the above

108.

‘TR AT G (SHC) ASF1 WRE TET §F welt 3T 2016 =1 @9 efaweuw

"¥ TS qge TR IR IR,

(1) 400 %U< (2) 468 FUT
(3) 500 #S (4) 568 FUS

‘Soil Health Card’ is a scheme launched by Govt. of India with allocation of T
in 2016 union budget.

109,

(1) 400 Cr. (2} 468 Cr.
{3) 500 Cr. (4) 568 Cr.
s GrAvSH QIR YABTHEE) M VI ** snfdfe: WHraw Wi "’ (Financial Inclusion
Committee) oA AETATICH W9 FOAW AL
. (1) =% e (2) W AW D
@) A T - (4) T gH

In order to address the issues of financial inchision, the Government of India constituted
a "Comimittee on Financial Inclusion” utider the Chairmanship of

(1) Dr. C. Rangarajan {2) Prof. D.R. Gadgil
(3) Shri. M. Natasimhan 4) AM. Khusro
110. s et Gevidia Hfade wfte FTeErd Fi Fam anfor 39 (NMAET) X
(1) 9 Tl A (2) 10 o GusifiE deden
(3) 11 9t ToEfE A= (4) 12 <t ygEIE Qe

The Cabinet Committee on Economic Affairs has approved the implementation of the
National Mission on Agricultural Extension and Technology (NMAET) during

period.

(1) 9% five year plan (2) 10" five year plan

© (3) 11*™ five year plani (4 12t five year plan
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111, WRAWE ' SEqT’ g YRR T9R Fe 9
(1) swtwT - e fafma i
() FESISH HERRE - it fafrEa giwm
(3) ata 9t wimdgy
(4) YRAWET 'SV’ TR HAOA Wehed AR
India produces "heavy water’ by the reactions :
(1) ammonia - hydrogen exchange reaction
(2) hydrogen sulphide - water exchange reaction

(3} both the above
(4} In India, we don’t have any heavy water plants.

112. 9RAA @rfesl R ‘3fea foma =i deome faeq’ 59 28 Ty, 2016 w0
wafrd ¢w 1 9 uE. Ford 6 Yo kel 2

(1) STHIRTATHCE. - 15 (2) IR TATHTE -1 €3,

(3) IMEIRNTATEUH. -1, (4) ¥FAIANTATHCH. - 1 TF.

India entered GPS Club by launching which of the following ‘Indian Regional Navigation
Satellite System’ recently on 28 April, 2016 ? '

1 55 -1 2) I -1
) IRN G RNSS-1H
(3) IRNSS-1K (4) IRNSS-1F

113. 954 39 o701 9o T I7 Wit T} Gey Fg e ?
(1) (U8 3I0) o (TS )

2) (W F) « (T )Y

3) (T « (Y87 )2

@) (T3 o (Yo T

What is the mathematical relation between wind power and wind velocity ?

(1) (wind power) = (wind velocity)

(2) (wind power) = (wind velocity)*?
(3) (wind power) = (wind velocity)?
(4) (wind power) « {wind velocity)?
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114. T90, 2019 - 20 We} Fire ' a0 - 1 A W FraEtaE! 09 .
(1) I TFEIR
(2) WS A R v e H F fodl/ N TR W 3w w0,

@
(9)

Tt H R s
LTSI T o ST

ISRO plans to carry out the mission “Aditya - 17 in 2019 - 20 for :

)
2
&
)

the disaster management

providing more Telecom lines and Television/Radio broadcasting facilities
the study of dynamic Solar Corona

the identification of militant’s sites

115. 3ot qwa P (BEE) refiatia s vafamiae wH w0 2

(1)
@
@)

(4)

a9 @t Pt SRGATHRE AT G ST ST
R Sw 3 fararor worelt guReEEE.
AR ardferaeiacar e $H FUERE! W Tge S ATEE) HRa & STEEe

H T,

W et Frreia yaeaiETEt aids gia Iveey S,

The Bureau of Energy Efficiency (BEE} works for the mission of :

(1)
2
3

(4)

Creating infrastructure to carry out research in the field of power sector.
Improvement of transmission and distribution system of power.

Developing policies and strategies for proper utilization of energy, to reduce pressure
on the Indiart economy.

Providing term-finance to projects in the power-sector field.
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116. ‘@’ =it el F2 ¥ @S we R dd. mhE gE SE geiE g, o s,

(1) To@w arvE w8 4 - foaugm

(2) W IThHIE dR - ¥wE

(3) ufew = EE Het 5

@) TE0 Mg AR - TRaPFR.

Some important centres of ISRO and places are given below. Of these, one is wrong.
Identify the pair.

(1) - Vikram Sarabhai Space Centre -  Thiruvananthapuram

(2} Space Application Centre - Bengaluru

{3) Satish Dhawan Space Centre - Shriharikota -

(4) ISRO Propulsion Centre - -Mahendragiri

—

117. mmwmmmmﬁmmaw

(1) ifes == (2) AT SEw

(3) AT HEE (4) a0a wd |
Which of the following factor influences wutilization of Bio-mass as d source of energy ?
(1) Material factor (2) Technological factor

(3) Environmental factor (4) Allof the above

118. €ErTg w2 Foew A9 T faue v Sy ? SN
1y = (CHY : () FEEEHFEE (CO,)

(3) TEEAMH) @) TG UEEES (HS)
Which gas is dominant in the Bio-gas plant 7

{1} Methane (CH,) (2) Carbondicxide {(CO,)

(3} Hydrogen (H,) (4) Hpydrogen Sulphide (H,S}

Tl THHTETS ST /SPACE FOR ROUGH WORK

P.T.O.

B FERE I e wmmmam g T4 A e,


Admin
Line

Admin
Line

Admin
Line


HO8 60 A

119. 4x Seforieal UFR (AFsw) T8 smm.
(1) A-ZWeNd4Z Y= 2) AWERNSTA-Z I
(3) A-Z IR 9A g (4) Z VR 9A-Z3Z

A nucleus designated by *%X contains

(1) A - Z protons and Z neutrons (2) A protons and A - Z neutrens
(3) A-Z protons and A neutrons  (4) Z protons and A - Z neutrons

120. Eelieeh! ST TRAY 0% @ faenel IwmE T ?

(1) W& (2) I @) [z () UHNRTHEC
Which of the following Indian satellite is not a student satellite ?
(1) SARAL (2} ANUSAT (3) YOUTHSAT _ (4) © SRMSAT

121. ¥ TERMEN SR FHEAGT WOAE FE FH del A e SehariE G eevarasy

: Wﬂﬂéﬁiﬂ:
(1) @mea ) e e
(3) wFHdE (4) TR UHH TE

In the box type Solar Cooker, if the water amount is reduced then the time required to
reach the boiling point will :

(1) increase ] : (2) remain same

. {3) reduce {4) none of these

122, e S feana afaeor 3ra 39 2 99 CdR 7o, enfirmate Iuw veaaasst 9
afyrdd vad W 39 Waew’ aTRd ?
(1) Taeagym (2) fawmErE™
3) Frefatveeh | (4) F=3

In which district the important projects of renewable energy such as, ‘Solar pond’, Asia’s
first wind farm and Asia’s first tidal project are located ?
(1) Thiruvananthapuram (2) Vishakhapatnam

(3) Tiruchirapalli (4) Kutch
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123. VRAE SR G @rardl =91 el 2R 2
(1) 1980 (2) 1982 (3) 1985 @) 1970

In India, the department of non-conventional energy sources was set up in the year

(1) 1980 2) 1982 (3) 1985 @ 1970

124, VAT T YT FA8T FHgret (NRSA) T ARTET {3FT01 HIor 2
Q) T et (2) W (3) TEE (4) g
In India, the National Remote Sensing Agency (NRSA) was set up at
{1) New Delhi (2) Bengaluru (3) Hyderabad (4) Mumbai

125. =Y 2020 7 Afvas S Wi Y SR A6 SUHH
(1) 7500 MWe FBRs {2) =R500 MWe FBRs

(3) UM 500 MWe FBRs (4) E& 500 MWe FBRs

In VISION 2020 the Department of Atomic Energy envisages a series of :

(1) Three 500 MWe FBRs (2)  Four 500 MWe FBRs
(3)  Five 500 MWe FBRs. (4)  Six 500 MWe FBRs
126. YRR &A1 993 99 3.4, 2010 9 @@ TRdmes ' i YEed HiHdl e iedl
fororfaa TR0 T ST {vaTd ST
(1) ey wuea (2) ToF WRAA
(3) UK weady (4) ofsy 3T WA
was awarded the 2010 Noble Prize in physiclogy for ‘development of human
in vitro fertilization therapy’.
(1) William Campbell {2) Ralph Steinman
(3) Robert Edwards (4) Andrew Z. Fire
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127. Bl TN A I SIPice e WG 3T,

(1) 255.0.0.0 (2) 255.255.0.0

(3) 255.255.255.0 (4) 255.255.255.255

is a default subnet mask for a class A.

(1) 255.0.0.0 (2) 255.255.0.0

(3) 255.255.255.0 (4) 255.255.255.255
128. AR, (ICMP) =7 TN 90T 7.

(1) TR sRfaw e (2) - SAgfET

(3) BRaEm (1) A THdt TR

ICMP is primarily used for
(1} error and diagnosis functions (2) addressing
(3} forwarding (4) none of the above

129. ADSL = 0 fawria ¥4 TR,
(1) Asymmetric Digital Subscriber Line
(2}‘ Asynchronous Digital Subscriber Line
(3y Asynchronous Digital Serial Line
(4) AsynﬁeMC Digital Serial Line
ADSL stands for .
(1)  Asymmetric Digital Subscriber Line
(2) Asynchronous Digital Subscriber Line
(3) Asynchronous Digital Serial Line
(4) Asymmetric Digital Serial Line

130. AN & JA.UL.3FEH TH FUA 60 T HM TElatst H1% HE ?

1) YW ER (2) &« () Suadd g=k (4) HRR §id
Which of the following device translates hostnames into IP addresses ?
(1) DNS server (2) Hub (3) DHCPserver (4} Firewall
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131. WRIeRT HIT vag & @ I 91 9300 Jied ARl ?

(1) |R-wim (2) ofglifewr fiew
(@) F (@) S
Which of the following is not included as green manure crop ?
(1} Sun-hemp (2) Azaridicta Indica
(3) Cluster beans (4) Sesbania rostrata

132. T2 feciean fameaiteant Sioear \a fouran Yaq Aiasomg o dd - ?

(1) ke faw (2) diefem faw
(3) IR (4) wEAEA
Which of the following is not of Microbial origin ?

(1) Aflatoxin (2 Botulinum toxin
(3) Ricin (4) Fumonicin

133, WFTEl S RIS WA STcATETS! SatHl SN, HHaT $eXegRRT - 2 A Seeea!
gaiRT IwEm @ Wy IS oW

(1) wArTEmeiTS S (2)
@) whwm 4) FHEQSt AR |

Use of mice for production of human tissue plasminogen activator and use of rabbits for
production of human interleukin-2 are examples of

(1) In vitro replication (2) Pharming
(3) Transplantation (4) Recombinant RNA technology
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134. Teia sl simel 6t o ovy/ e dwaamaR yare S fawfaa w<dt

A ?

(@) T b) HREE

() =l PR (d) afrwiew

tdt 3w ;

1) (@) AW () 2 My (3 wEK(b) (4) (a) 31T (d)

Which of the following drug/drugs have been indigenously developed by CSIR
laboratories ?

(a) Risorine (b) Acuretic
() Memory sure (d) Benefix
Answer options :

(1) (@) and () (2) (byand (d) (3) Only (b) (4) (a)and (d)

135, Wials! walg v gai fae -
e ot amEt Tea @ i,
(1) ot gy e gaad=l gl
(2) e T g i peraer
(3) sl rEYHO gut wigy |
(4) R anfor
Choose the most appropriate option from the following :
The human pattern of sex detcrmination is followed by :
(1) flowering plants and free ranging animals
(2) birds, moths and butterflies

(3) birds as well as flowering plants
(4) birds and moths
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136. @RS S, fasht 8 wiel |/ o1 HEa JTRUE ST, ¥ |/ 2015 T Gl
e st Iiafda weft wu T e,
(1) =gu 2) 9= (3) fasn o= (4) Teenivan
was one of the first genetically modified animal to be approved for commercial
production, sale and human consumption by USFDA in 2015,
{1} Tuna (2) Salmon (3) Zebra fish (4) Tilapia
137. AR TeriRoT o B I T IR eihed WO G Sneesl.,
(1) T, (2 R
(3) WiEm (4) TS
is associated symbiotically with non-leguminous plants and is known to fix
nitrogen.
{1} Rhizobium (2) Azomonas
{3) Frankia (4) Clostridium
138. Tufalsd 9 FsiiadEz nmtueEt wiftg smo T 2 1 Al FIEE
.

(1) S s R e STt
(2 wferaes v siRds

(3) wiwHIT freom wftm

(4) TwRdTE MRde

Sericin that is known to have antioxidant as weil as antifrosting properties is nothing but

{1) A bioactive from serratia species
(2) A derivative of salicylic acid
(3} A protein from silkworm

(4} A derivative of spectrin
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139. JEwre e sAfavasia Eeiicte! Sivkdr TR Jiien are Se s 2

(1) fexfoem sl @ gEWrE W

(3) Ve T @) e widw

Which of the following fungus is used in preparation of Roquefort cheese ?

(1) Aspergillus species (2) Pseudomonas species

(3) Penicillium species (4) Candida species
140, WA, .UF. IR A THRER T TR B0 FdE fEay F2 3 9 T R,

(1) =R @ e @) feeeit (4) &I

The Peninsular and Marine Fish Genetic Resources center (PMFGR) of the NBFGR is housed

in ;

(1) Kochi (2) Mumbai (3) Delhi (4) Lucknow
141, AR SITET Yehl Mo S Al 9 arsfaca @ Ty faesfac,

(1) e wHHAT (2) femmm (3) T o (4) AT T

Celis derived from were the first human cells to grow well in the labaratory.

(1) Cervical cancer (2) Lymphoma (3) Human foetus (4) Leukaemia

142, feeie aFa qof & :
(1) v sfrafn gada et 35 98T
2) @ od drifers Sucedn doedar um TR
@) e e feew-wR e eia
(4) T HEms A NN JEEs TR
Complete the following statement :
Navapur turdal, Solapur pomegranate, Waigaon turmeric
(1) are all examples of genetically modified crops
(2) all form a part of Geographical indication registry
(3) all are pest resistant varieties
(4) all are rich sources of Vit. A
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143, las UitENe fawa, SSEie devs @ hEis S0 gt 3.9, 1940 T dgad gHl SurRI=n
HEFFIH Buw Hele $g w9 $ol.

(1) =i faws (2) wHEHITIER Hed
(3) d.EE W (4) @ Sfasw I

Sir Fredrick Banting, the Nobel-Prize winning discoverer of insulin, established the first
research centre in 1940, with the help of corporate sponsors.

(1) Genomic (2) In vitro fertilization

(3) Endocrinology (4) Private biological weapon

144, faum qof =1 :
e, AEE 7 UF :
(1) & 3t wRvi= T2 3 HHiE qeied e
() wE=m dey ol Srariem o
(3) = S FeieRiT Sl YaAsia ®UE ST S Y
4) Qe Tei vewE OF WeE e
Complete the statement :
Selenate, Arsenate and Sulphur
(1) are group lll elements in the periodic table
(2) * have intrinsic :catalyﬁc activity |
(3) can be used by microorganisms as termjpal electron accepiors

{(4) are a part of microbial cell membrane
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145, SHRTAY 2qAETw a1 )

(1) T iAo HEreiaives S e Tier I Bl
@) v ifafes TREiEe ThAeiRs Hier id i §Er
3y 74 Fritfe oAy Setaafinagd HweEa wa I ae
(¢) vm Fifes geiiaivEe Tasitsras e Fad id I
Agrobacterium tumafaceins is a
(1} Gram positive sotl bacterium causing crown .gall disease in dicots
(2) Gram positive soil bacterium causing crown gall disease in monocots

(3) Gram negative soil bacterium causing crown gall disease in dicots

(4) Gram negative soil bacterium causing crown gall disease in monocots

146. ‘faOR 98’ WP ST A Sfadeee Amea sor fadt T (fEE) < wgw deifers it @

(1) 135 fE, ) 235 fEH @) 335 fEm, () 435 &4

Mithi River (Mumbai) originates in the Vlhar Lake Area, flows southwards, has a total
geographical length of about

(1) 135 km 2) 235 km (3) 335 km (4) 435 km
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147. IPCC =0 STEARIEER Al TR eia 78 a1 FrildsRar sroig srdea arafia
dart gel art e o,

71 A Eidia] w9 IS 98 FHHIM A
(a) AR AT AR (CO.)

(b)  woreres SEi-fte, Wi At (CH,)

() e ffifdt (CO,)

(d) <iTedrS, SHeaEgHM &E (CO,)

gafdr I ; ,
(1) (©.®) (d) (@) ) (@), @ b) (d)
(3) (d). (o) (a). (b) (4) (9, @), @) (b)

Listed below are the sources of global emission of green house gases from anthropogenic
sources {IPCC Report).

Rank these sources in increasing order of emission percentage.
(a) Burning of fossil fuels (CO,)
(b) Wetland, Rice Cultivation (CH,)
{c) Cement production (CO,)
(d) Deforestation, decay of biomass (CO,)

Answer options :

(1) (0), (b), ). (a) 2) ). . )
(3)  (d). (9 (a) (b) 4) (9 (a) (d), (b)

148. qammmﬁwmﬁalmmmmmw
(1) WrewEy (2) TR (3) 3T=EUH (4) eI

is smular in mechanism to Landslide involve a large amount of ice, snow and
rock falling quickly down the mountain.

(1) Solfatara (2) Moraine (3) Avalanche (4) Agquiclude
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149. =1 3T Y (a1, SR 31 ot e favm aran safn W w3 fasn
{a) Y@y e 9.0 wagl ot ynvTE Hiefae e,

(b) M gEMtvEn aMfor R wEErFEdE TR 11 <Wie fRagieRie SR fasheia
7.

(c) vEhuTeAT foalt gt e 8 i s o
(d) & Y@ 28 feder, 2004 Tt wewm

waTdt I

() ¥z faum () o0 (b) s aTRA

(2) ¥ faum (b) 3 (c) R T

@) ¥F= U (o), (b)- A (c) =R i

(4) T fumd slew aRA

Read the given statements about Banda Aceh Earthquake (Sumatra, Indonesia) and choose
the correct option. - '

{a} The earthquake measured 9.0 on the Richter Scale,

(b} It devastated coastal communities in Indonesia and all 11 other countries in the
~Indian Ocean.

- Ag) The boxing day earthquake shook the earth’s crust for eight minutes.
{d) An earthquake occurred on 28 December, 2004.
Answer aptions :
(1) Only statements (a) and {b) are correct
(2) Only statements (b) and (c) are correct
(3} Only statements (a), (b) and (c) are correct

(4) All statements are correct
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150, Weherishl FIve SROTTS Yoo frar g2l ?

HOB

(a) wTEEE

(b) wETETIE SR

() AT Sanrler gwrs His

(@) et ad

bt 3o

) W@ @ @ @ @ame @ @

Landslides occur due fo : | I

(é) Deforestation

(b) Volcanic eruptions

() Weakening of slope by heavy rains

(d)  All the above

Answer options :

M Ony@ _ @ Ony@  ®) @ewd®) @) @md@
000

HoAT FIUE™T JRT /SPACE FOR ROUGH WORK

e —

P . T.O.


Admin
Line


HO8

72 A

ol — (U5 1 987 @)

(@) werferme fafn Soew fafme SFiie = ¥@ (% o) F74. Ty iE JRIGCEFR o
T FIEET Fo] B HeA S FOaren Ry FO o, A8 WMo Iie 1 ®IgER SHEERE
TR I o e B TR yhey s Afufrn-82"" ade Wgeigan Bl
Fvaa Ao & S e FAIS T AN A ST v v v ween deren foda
N TS

() X WA ST fafen ¥ ¥ HITAra SHRAREn § TR T A TR
B3 AT TEETT SR, T GO TRETETR STeaTyEl SHEane sTuear Wi ur-1
TRAGFIHS T fauen wa F avavas 2

¥ HHF

T WA
201, FAS T T FOGEG HN Y T F 2
1)y Endt TEET I (2y d¥ERER faRmEER
@) T T I (4 TSR MES
T TR A I (3) T T {9 O . °e W W I (3)" dde A
TETERGATT I 7, 201 TS IR-F (F) " ¢ Res TR Frlieha FET AN ST

W

.. 2.

oNeN NO

M TEAA Wed TARHAS Toih G qHA1 ITGRAIF 31 el Tt e
ITAHFTAT @ IASNIHEAS Gata a3 Uil SEikea wEA SrEarar.  EeRiar
T IS VTS Ao arwrd, e @ v I anE @
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